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orem for divergence. :
© Vectors with geometrical representation.

vectors A, Band C.show that it does not obey

; Si+7j-4k, i) QX (EXR%% (PXQ),

s N !
3 Q Q.
) G

Jtazk and r= Xi+yj+zk.
ordinates of point P(3,4,5) are [5v2,45° tan™ (4/3)].

¥
d

3
int charge in an electrostatic field. Obtain the
ntial energy and potential difference between two

stored in a system of N discrete
/(r;).

dr are equivalent.
tential energy of a discrete point charge distribution.

: is most probably at a distance r=5.3 x 10"'m from
al energy of the atom.[Given:- ¢=1.6 x10"%,€0= 8.85

” ound turns carries a current of 1A. if the radius of
etic field at a point on its axis,at a distance 10 cm

07 wb/Am.]
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Q3 Attempt the following:-

A) Attempt any 1:-  7M] LR

a) A point charge q is accelerateq through a poteﬂtlal difference V. derjy, an
expression for the gain in its kinetic energy:

b) Set up the equation of motion of 5 charged pamcle in a sinusoidal elecy, fielq
and solve it to obtain expressions for the velooity and displacement of .
particle. Represent them graphically.

B) Attemptany 1:- 8M]

a) A charged particle enters a uniform conStlilnt magn
helical path, in general. it

b) How does Thomas parabola method estab th

C) Attemptany 1:- 5M] _ g
a) Explam the term gyro radius. A mlxed;'

etic field. Show that it traces ,

e existence of isotopes?

fproton and deuteron accelerae
tic field 2 wb/m’in a direction af right
proton beam from deuteron beay,

angles to field. Calculate the separatit
' field. [ given:- e = 1.6X107%  n -

with each has described a semi- circle
1.67X10%'kg,mg=2m, ]. :

b) Ifin a cyclotron adjusted to give a p
and the extreme radius is 0.15m, ¢
electron volts. [ given:- e =

| c01l has 250 5 "'wb/Am]
been acceler ‘
_'ven e =1.6X
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